TEST 3 — Business Mathematics
(201-914-DW 03)
Tuesday December 1% 2009

Instructor: Emilie Richer

Name: LPOLUT/O/\/\S

INSTRUCTIONS

- The test is marked out of 50 marks
- You have 1 hour and 45 minutes to complete the test
- A scientific calculator is permitted

SHOW ALL YOUR WORK

This means:
- Indicate which formulas you are using
- Don’t simply put an answer down {unless it comes directly from your calculator)
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Question 1 {5 marks)
A couple inherits $89 000. They would like to invest the money and withdraw 500$ at the end of every

month until there is 05 left of the inheritance. If money can be invested at 3.5% compounded monthly
how leng will the inheritance last?
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Question 2 (5 marks)
Find the APY far the following three investments:
(a) 5% compounded weekly
(b) 5% compounded monthly
{c) 5% compounded yearly
(d) 5% compounded continuously
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Question 3 {5 marks) :

A small business that manufactures minfature wax models of celebrities decides to invest $1000 at the
end of each month in order to purchase a machine that makes perfect wax replicas of Brad Pitt {their
top selling wax madel). This machine costs a whopping $130 000. They can invest money at 5.2%

compounded monthly, how long will it take them to accumulate enough money for their Brad Pitt
making machine.
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Question 4 (5 marks)
Morgan wanis to invest money into a college fund for her young son. She plans on depositing 4255 at

the beginning of every quarter for the next 18 years, How much will her investment be worth after these
18 years if it earns 3.8% compounded quarterly?
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Question 5 (10 marks)
Yann doesn’t trust any bank with his money, so he keeps it under his bed in a shoebox. He has been
placing his weekly earnings of $625 in his shoebox at end of each week for the past 16 years.
(a) How much does he have in his shoebox?
(b) If Yann changed his mind and invested all of the shoebox’s contents into the CRA-P Bank at 1.3%
interest, how much interest could he earn in one year?
{c) Suppose that instead of depositing his money in a shoebox for 16 years, Yann had invested his
weekly earnings at the end of each week in the NT-REST Bank at 1.3% interest compounded
weekly, how much would he have in his shoebox?
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Question 6 (5 marks)

A company wants to have $ 250 000 after 3.5 years to modernize its production equipment. How much
money should the company deposit at the beginning of each quarter into an account that earns 6.3%
compounded quarterly if they want to achieve this goal?
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Question 7 {5 marks)

On his 48™ birthday, a man decides that he wants to set aside enough money to provide an income of
$300 at the end of each month from his 60" to his 65" birthday. If he earns 6% compounded monthly,
how much will this supplemental retirement plan cost him on his 48" birthday?
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Question 8 (10 marks)

Charlie has just won the “Sucker-Born-Every-Minute” Lottery! For his prize, he has the choice

between receiving $10 000 at the end of each month for the next 40 years OR a lump sum prize of

$1.5 million ($1 500 000). Money can earn 7.2% compounded monthly.

(a) Which prize would the lottery company want Charlie to choose? How much money will they
save if Charlie makes this decision?

{b) Which prize should Charlie choose? How much more money will he make with this choice?
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